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Question Number : 1 Question Id : 206205583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following properties reflects that a computer is free from tiredness and boredom?

Options:

, » Efficiency

> % Accuracy
- » Reliability

4  Diligence

Question Number : 1 Question Id : 206205583 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 2 Question Id : 206205584 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Codes consisting of lines of varying widths or lengths that are computer readable are known as:

Options:
1 % A&CIIcode
- % OCR scanner

3 « Bar code

4 #® Code

Question Number : 2 Question Id : 206205584 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 3 Question Id : 206205585 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A standard keyboard generally has function keys.

Options:
1 ® 3

2.539
3_-&3“]

4.¢?12

Question Number : 3 Question Id : 206205585 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 4 Question Id : 206205586 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Data stored in needs to be refreshed periodically even when the power is on.

Options:



; % SRAM
> « DRAM
5 % Cache memory

4 % ROM

Question Number : 4 Question Id : 206205586 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

» THEIF (SRAM)

1.

. » 5 (DRAM)
. x U FAAY (Cache memory)

, » TF (ROM)

Question Number : 5 Question Id : 206205587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following can be programmed again after erasing the data stored on them?

Options:
1 « EPROM and EEPROM

> % EPROM and PROM
s % ROM and PROM

4 % EEPROM and PROM

Question Number : 5 Question Id : 206205587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

| » $HUA (EPROM) 3R &= (EEPROM)



, » S9-UA (EPROM) 3k ¥-3= (PROM)
. « UA (ROM) 3R 9T (PROM)

, % SS90 (EEPROM) 3R 9317 (PROM)

Question Number : 6 Question Id : 206205588 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Optomechanical mouse uses to detect the motion of the ball.

Options:
1 % Laser

> % Rubber

-  Optical sensor

4 % Ultraviolet light

Question Number : 6 Question Id : 206205588 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 7 Question Id : 206205589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) The optical mouse responds more quickly and precisely than the mechanical mouse.
1) Cordless mouse relies on infrared or radio waves to communicate with the computer.

Options:
, » I-False II - True



> % 1-Tre, TI- False
z % I- False, II - False

4 1-True, II - True

Question Number : 7 Question Id : 206205589 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 8 Question Id : 206205590 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following.

SET-1 SET-2
I) Diligence A) Units of memory
IT) Bits and Bytes B) Input device
IT) OCR C) Characteristic of a computer
Options:

, % [-B.II-AII-C
, w I-C.II-B,II-A
2w [-C.II-AIII-B

.« [-B.II-C,II-A

Question Number : 8 Question Id : 206205590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 9 Question Id : 206205591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Which printer prints characters only in one stroke?
Options:

, w Laser printer

o Dot Matrix printer
- % Line printer

4 % Plotter

Question Number : 9 Question Id : 206205591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 10 Question Id : 206205592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which is the largest unit of storage among the following?

Options:
|  Terabyte

> » Kilobyte
5 = Megabyte

4 w Cigabyte

Question Number : 10 Question Id : 206205592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 EI Tsc
o Tehe EIEE

Question Number : 11 Question Id : 206205593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A software which controls the overall functioning of a computer system is called:
Options:

| « System software
> % Linker

- % Application software

4 % Word processor

Question Number : 11 Question Id : 206205593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 12 Question Id : 206205594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is generally used to create contents like letters or reports?

Options:
, % Operating system
T i =
>  Word processing software

- % Firmware

4 % System software

Question Number : 12 Question Id : 206205594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
fr=fof@e & & #i7 3mat | o o REE 3% & 59 # 5979 8 872

Options:

E,Eémﬁﬂm
g_éﬁm

4 » TOTEH @R

Question Number : 13 Question Id : 206205595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Total storage capacity of a computer with 3 RAM chips of capacity 0.5 GB. 10 MB and 512 KB is:

Options:
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Question Number : 13 Question Id : 206205595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
0.5 GB, 10 MB 3 512 KB ' &mHar & 3 37 &0 o ogex 1 Fol TS efHar gem:

Options:

., v 5225 MB

. % 5225 GB
- » 5225 KB

. % 25 GB

Question Number : 14 Question Id : 206205596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is equivalent to 4 Megabytes?

Options:
, » 4000 Kilobytes

, % 4000000 Bytes

- 4096 Kilobytes

4 % 0.25 Gigabytes

Question Number : 14 Question Id : 206205596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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. » 4096 TraTaTsed
, » 0.25 eTmarsed

Question Number : 15 Question Id : 206205597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In Windows. users can keep personal files / folders in:
Options:

, % My folder

> o MY documents
5 % Prompt

4 % My text

Question Number : 15 Question Id : 206205597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 16 Question Id : 206205598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

During boating process, BIOS slarl-up program mins to check whether or not primary devices the compuler
will raly onare fanetioning properly.

Options:

1 ® OS Kernel

> % Antivirus

% « Power-on self-test



4 # Disk cleaner

Question Number : 16 Question Id : 206205598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 17 Question Id : 206205599 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In Microsoft Windows, pressing shows you the window menu options.
Options:

, » Ctrl+ Spacebar

5 of Alt + Spacebar
- % Alt + Shift

4 % AL+Ctl+T

Question Number : 17 Question Id : 206205599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, = Cftrl + Spacebar

.  Alt + Spacebar
3 % Alt + Shift

L% Alt+ Ctrl + T



Question Number : 18 Question Id : 206205600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In a screen resolution description, e.g. 720p, the letter ‘p” stands for:

Options:
1 % Point

> % Pixel

5  Progressive

4 % Precision

Question Number : 18 Question Id : 206205600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 19 Question Id : 206205601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Shortcut key for Undo is:

Options:

1 ® Cul+X
> % Cil+C
3 o Citl+Z
4% ChHl+Y

Question Number : 19 Question Id : 206205601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

L % Ctrl + X
, % Ctrl + C
2w Ctrl + Z

L# Ctrl+Y

Question Number : 20 Question Id : 206205602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The process of encoding information in an attempt to make it secure from unauthorised access is called:

Options:
, w Decryption

-  Encryption

= # Authorisation

4 % Audit

Question Number : 20 Question Id : 206205602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

HATUFT TR (VW) W EHET TR F WO F AN FYOUAEE FE A IR F S S i

Options:

| w BeeE
5w HTUTTHAAT

4_%3'1‘;;@_(:

Question Number : 21 Question Id : 206205603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A piece of code which typically has a detrimental effect. such as corrupting the system or destroying data is called:

Options:



= % Error

4 w Exception

Question Number : 21 Question Id : 206205603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 22 Question Id : 206205604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
With respect to IT certifications, CCNA stands for:

Options:
1 # Cisco Certified Network Administration

> % Cisco Certified News Associate

= « Cisco Certified Network Associate

.

4 # Cisco Certified News Assistant

Question Number : 22 Question Id : 206205604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 23 Question Id : 206205605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is an important security measure for computer svstems?

Options:
, w» Regular changing of operating system.

» » Regular cleaning and dusting of the computer system.

-  Regular update of the antivirus software.

4 % Regular deletion of images and videos from the computer system.

Question Number : 23 Question Id : 206205605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 24 Question Id : 206205606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
With respect to information security, the full-form of PIN is:

Options:
1 « Personal Identification Number

> % Public Identification Number

= % Protected Identification Number



4 % Personal Identification Name

Question Number : 24 Question Id : 206205606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 25 Question Id : 206205607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a system utility to troubleshoot the Microsoft Windows start up process?

Options:
, # REGEDIT

> « MSConfig

2 % CMD

4 % CALC

Question Number : 25 Question Id : 206205607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. %« REGEDIT
. « M3Config
2 ® CMD

4 % CALC



Question Number : 26 Question Id : 206205608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) The Windows “REGEDIT” command can be used to access command window.
1) Firewall protects a network or system from unauthorized access.

Options:
1 % I-True, Il - True

5 % 1-Tme, II- False
5 % 1-False II - False

4 « 1-False, Il - True

Question Number : 26 Question Id : 206205608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 27 Question Id : 206205609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following contains one or more files or directory that is smaller than their original size?

Options:
1 # Document file

> % Portable file

- » Encrypted file



s Compressed file

Question Number : 27 Question Id : 206205609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

Question Number : 28 Question Id : 206205610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following statements is false?
Options:

1 # A folder can store other folders.

®

-~ » A folder can store both files and folders together.

= « A file can store folders.

&,

Different files in a folder can be of different size.

o
®

Question Number : 28 Question Id : 206205610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 29 Question Id : 206205611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a file system?

Options:
1 v FANT

> % FATI2
s % FAT32

4 % NTFS

Question Number : 29 Question Id : 206205611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

. v EANT
, » FAT12
- = FAT32

. = NTFS

Question Number : 30 Question Id : 206205612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following DOS commands is used to display the list of files and folders contained inside the current
{or working ) folder?

Options:

1 % DISPLAY

> % FILE
5 « DIR

4 % DIRECTORY

Question Number : 30 Question Id : 206205612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

, % DISPLAY
. % FILE
- « DIR

., » DIRECTORY

Question Number : 31 Question Id : 206205613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following.

SET-1 SET-2
I}y CES A) File system
IT) FAT B) Image file format
IT) JPEG C) Clears the screen
Options:

. % I-B,II-AII-C
, » 1-C.II-ATI-B
5w [-C.II-B.II-A

, « [-B.II-C.II-A

Question Number : 31 Question Id : 206205613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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-1 aT-2
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1) JPEG C) EhiT |1 & &
Options:
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Question Number : 32 Question Id : 206205614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) A folder cannot be created within another folder.
1) A file can be made read-only file.

Options:
1 % I-True. II - True

> % 1-Tme II - False
5  1-False II - True

4 % 1-False II - False

Question Number : 32 Question Id : 206205614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
x| -Tm, Nl -\ T
o w | - W, Il - W
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, % | - 3T, - 3ET

Question Number : 33 Question Id : 206205615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following file options is used to create a new Word document?
Options:

| % Open recent



5 % Open

= o New

4 % BSave

Question Number : 33 Question Id : 206205615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
, = Open recent

Open

R
= « New

4 % Save

Question Number : 34 Question Id : 206205616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Keyboard shortcut to maximize or restore Word document window is:

Options:
1 & Ctrl+F10
5 ® Alt+F10

2 # Cirl+F12

4 % Alt+FI2

Question Number : 34 Question Id : 206205616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
.« Ctrl + F10
- % Alt + F10

2 % Ctrl + F12



4 % Alt + F12

Question Number : 35 Question Id : 206205617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Notes placed at the end of a Word document are called:

Options:
1 % Footnotes
> « Endnotes

- # References

4 » Bibliography

Question Number : 35 Question Id : 206205617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 36 Question Id : 206205618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A number, letter or symbol which is set slightly above the normal line of texts is called:

Options:
1 % Header
> % Subscript

5 o Superscript

4 % Drop Cap



Question Number : 36 Question Id : 206205618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AAT SFEC FT ol ¥ oS 397 O J= Jre 3eh, 38 7 Gohd & el AT 2

Options:

1.%53?3?
g_wm

Re L RgR== 2

3¢ 3

Question Number : 37 Question Id : 206205619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In a document, a large initial letter that drops below the first line of a paragraph is called:

Options:
1 % Indent

» » Hyphen
5 « Drop Cap

4 % Margin

Question Number : 37 Question Id : 206205619 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
frelT st &, WREMH T TgeN FeA F A FT gC T3 TG e FH Fgl Ao

Options:

1@53%?

S.Jﬁqh

4.&;9:”%?

Question Number : 38 Question Id : 206205620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which of the following can be a software?
Options:

| % System Bus

> o Firewall
z % Hub

4 # Modems

Question Number : 38 Question Id : 206205620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

e # ¥ #41 % HiveaaT & Tehdr g7
Options:

, » Tw w

3_%3%?

4_-%3?”1%?-_8'

Question Number : 39 Question Id : 206205621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Excel Workbooks are stored with extensions.

Options:
{ ® .PDF

> % XILX
=z o XLS or XLSX

4 % XLSP

Question Number : 39 Question Id : 206205621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TEES THIF TFHCUS F WY TR Har Far g

Options:

, % .PDF




, % XLX
- ¢ XLS Ir XLSX

. % XLSP

Question Number : 40 Question Id : 206205622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Editing document consists of reading through the document that has been created. and then:

Options:

, « Correcting the errors

- u Printing it

5 % Saving it

4 w Defeating it

Question Number : 40 Question Id : 206205622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

S F v we f 9 § Jan R o segde & st 9 ® e AR R
oMTAe ZET B

Options:

1 e I T Sk FLAT
, « 39 WT HEr
o » 3H T FAT

, » 5O T

Question Number : 41 Question Id : 206205623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The number of cells in the cell range P5:T8 is:

Options:
1 ® 5

>~ % 13



Question Number : 41 Question Id : 206205623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
¥ & P5:T8 H Fof ¥ HI FEA;T &
Options:

1 % 5
- % 13
T 20‘

4 % 8

Question Number : 42 Question Id : 206205624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The value of the Excel expression =IF(1-1, 1+2, 3+4) is:
Options:

1 ® 0

Question Number : 42 Question Id : 206205624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TFHT TFEIL =IF(1-1, 1+2, 3+4) & AA &

Options:

1_%-30



Question Number : 43 Question Id : 206205625 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a valid cell address?

Options:
; % ZS$15

o & SZS15
5 o Z15%

4 % Z15

Question Number : 43 Question Id : 206205625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TaeRT § ¥ 7 it a0 @ 74 32
Options:

1 & 2515
o W $ZS15

48 Z15

Question Number : 44 Question Id : 206205626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When assumed that the content of cell B2 is 256, the value of the Excel expression =B2/4"2 is:

Options:
| % 4096

zﬂflﬁ

z ® s

Question Number : 44 Question Id : 206205626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

3 B2 B & e 256 AT AT, af Tl THEUT =B2/4°2 &7 AT g9

Options:




. = 4096
" '16

o % 32

Question Number : 45 Question Id : 206205627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) The first worksheet of a workbook containing two or more worksheets cannot be deleted.
18] The first worksheet of a workbook cannot be renamed.

Options:
g oM F False, IT - True

> % 1-True, II - False
z % I-True, II - True

g & False, II - False

Question Number : 45 Question Id : 206205627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
T 3T 30T FI7 FT I99 F{ |

) & a1 31 FHelie goa Togw #T Tge Telie F fBeie A9 A S wean
) FFgF H Tge Tewele F Raw 7@ o 1 Fan

Options:
x| - ¥ET, - T

L | - &=, Il - 3/
2w | - T, Nl - T

L v | - 3ET, - FEeT

Question Number : 46 Question Id : 206205628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Match the following.

SET-1 SET-2
I} Caret(®) A) Reference operator
IT) Colon (3) B) Mixed address
IT) AASO C) Absolute address
IV) SABS7 D) Exponentiation operator
Options:

1« I-D.H-ATI-B,IV-C
2 B I-AII-D.III-B.IV-C
o % I-D:II'-":.L_.III-C__I'R."-E

4 % I-AII-DII-CIV-B

Question Number : 46 Question Id : 206205628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

feafe@a & & #:1
@?'1 m_z

) e () A) TtE st
) e () B) fwes w2
1) AASS C) wewTE ww
NG} waea D) TewaSaTe e

Options:

el =D, 0 -A Il -B, IVC

% l-A Il-D,II-B, IV-C

s l-D,I-All-C IV-B

4w l-A ll-D,II-C IV-B

Question Number : 47 Question Id : 206205629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
With respect to the Internet. the acronym DSL stands for:
Options:

. Digital Subscriber Line



- % Dual Subscriber Line

- % Digital Subscriber Link

4 % Dual Subscriber Link

Question Number : 47 Question Id : 206205629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ST & HeH H, IRaull ereg SivETe (DSL) T 9 A1F &
Options:

i\ Beea gegwsa asa

.« 3HO TEEHSA WS

. « Bfoed geuHEa foF

337 WeHFEH oIk

4 R

Question Number : 48 Question Id : 206205630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Dial-up connectivity enables you to connect to the Internet using:

Options:
1 % Satellite

- « Telephone line

- % WiFi

Question Number : 48 Question Id : 206205630 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
STU-HT FaTae ae! HTIHh! SITAT T Fade il H HeIH Tl § SHT IIATT FIeh:

Options:

. % 399¢

o o TPl ST



2 % ET%'—U’?I%
4 % TEEE

Question Number : 49 Question Id : 206205631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a world-wide network of computers?

Options:
, % Webpage

> % Website
= « Internet

4 % Intranet

Question Number : 49 Question Id : 206205631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
fr=fafaa & & Fi7 g2 F1 egeard acsF 22

Options:

| % FEOS
z.ﬁm
S.Jé‘aﬁi
4 % T

Question Number : 50 Question Id : 206205632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The default browser for Windows systems is:

Options:
1 #% Chrome

-  Internet Explorer

5 % Opera



4 % Firefox

Question Number : 50 Question Id : 206205632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

s fAer F1 fBwee 31 &
Options:

1_&@?

o v FETAT TFETARY

Question Number : 51 Question Id : 206205633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
State whether True or False.

I) Wi Fi allows you to connect to the Internet through cables.
1) URL is the unique address given to every website on the Internet.

Options:
1 % I-True, Il - True

5 % 1-Tme, II- False
5  1-False II - True

4 % 1-False II - False

Question Number : 51 Question Id : 206205633 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T AT 30T FUF 7 I99 F)

) IE-FIE FET F AT T HIH A T Fade FT g
Il) THRTS FeIAT W 3T TodF JTTTE F I A I T TH 2

Options:
x| -FT, Nl - T




oo | - T, Il - 3T
2 v | -3, - J

, x| - 3@eT, |l - 3EeT

Question Number : 52 Question Id : 206205634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Match the following.

SET-1 SET-2
I) Modem A) Collection of linked webpages
IT) Spider B) Modulator/Demodulator
IIT) Website C) Software used by Search Engines
Options:

. % [-B,I-AII-C
» » I-B.II-C.II-A
2 % [-AII-B.II-C

. % [-AII-C.II-B

Question Number : 52 Question Id : 206205634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T &1 &e=T F:YI

ae-1 Be-2

) #RH A) s Ieu= T I8

) TAEsT B) AlsgeY/fEATs o

1) F=arEe C) Y S5l gaRT FIFd Heady
Options:

 wl-B II-All-C
el-B Il-C Il -A
sxl-A NI-Bll-C

wn 1B M-8, -8



Section Id :
Section Number :
Section type:

Mandatory or Optional:
Number of Questions:
Number of Questionsto be attempted:

Section Marks:

Display Number Panel:
Group All Questions:

Question Id : 206205635 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No

Sub-Section Number:
Sub-Section | d:

Question Shuffling Allowed :

Question Numbers: (53 to 57)
Cesticn Label | Comprehiension

READING COMPREHEMNSION

20620587
2

Online
Mandatory
1

1

5

Yes

No

1
20620587
Yes



Read the following passage and answer the questions based
on it.

Baby giraffes never go to school. But they learn a very
important lesson rather early in life. A lesson that all of us
would do well to remember.

The birth of a baby giraffe is quite an earth-shaking event. The
baby falls to the ground from its mother’s womb. some eight
feet above the ground. It shrivels up and lies still. too weak to
move.

The mother giraffe lovingly lowers her neck to kiss the baby
giraffe. And then something unbelievable happens. She lifts her
long leg and kicks the baby giraffe, sending it flying up in the
air and tumbling down on the ground.

As the baby lies curled up. the mother kicks the baby again and
again until the baby giraffe. still trembling and tired. pushes its
limbs and. for the first time. learns to stand on its feet. Happy
to see the baby standing on its own feet. the mother giraffe
comes over and gives it yet another kick. The baby giraffe falls
one more time, but now quickly recovers and stands up.

Mama giraffe is delighted. She knows that the baby has learnt
an important lesson. “Never mind how hard you fall, always
remember to pick yourself up and get back on your feet.”

Why does the mother giraffe do this? She knows that lions and
leopards love giraffe meat. So unless the baby giraffe quickly
learns to stand and run with the pack. it will have no chance of
survival.

Most of us, though. are not quite as lucky as baby giraffes. No
one teaches us to stand up every time we fall. When we fail,
when we are down, we just give up.

No one kicks us out of our comfort zone to remind us that to
survive and succeed. we need to learn to get back on our feet.

This message is to everyone who hasn’t given up and those

who will always have the courage to get back up. dust
everything off and start again.

Sub questions

Question Number : 53 Question Id : 206205636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
According to the passage, which of the following

statements is correct?
Options:



, % Only human beings go to school.
- u Birth of a baby giraffe is quite a simple event.

Baby giraffes imitate their siblings to stand up

5 » every time they fall.

Baby giraffes learn an important lesson early in

4 « their life, by getting kicked by their mother.

Question Number : 54 Question Id : 206205637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Why is the birth of a giraffe said to be quite an

earth-shaking event?

Options:
The baby giraffe falls straight out of the mother’s

| « Womb onto the ground from a height of eight feet.

> % The earth trembles when a baby giraffe is born.

At the time of birth, a baby giraffe falls on the

- % ground with a bang.

Sometimes. could the birth of a baby giraffe can

, % causeeven an earthquake.

Question Number : 55 Question Id : 206205638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The mother giraffe kicks the baby giraffe again and

again so that it

Options:
can quickly learn to stand up and run for its

1 & survival

- % 1is able to fight back

= % 1is able to run faster than other animals



, % canlearn to lead a tough life

Question Number : 56 Question Id : 206205639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The mother giraffe is delighted to see that the baby
giraffe

Options:

, % canavoid falling

- o canrecover immediately after each fall

5 % has learnt to be dependent

4 » cantake care of her (the mother)

Question Number : 57 Question Id : 206205640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The lesson one learns from the story is:
Options:

, w slow and steady wins the race.

- » nothing is granted to well directed effort.
5 o Success comes to those who never give up trying.

4 % success comes only to the cowards.

Question Id : 206205635 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Juestion Label - Comprehension
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Sub questions

Question Number : 53 Question Id : 206205636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TSI & HAER, AeAaad # & i a1
FHUT TET 87

Options:
e b % *
N SR & T I gl

., » 991 ORI &7 Fe Fhr T T g

& 9K Fa 9T @1 29 & v 869 Suw
L x IS HS-FEA! HT FAH I g

I9T oS I9HT AT § o9 W J94 a9
- H AT A TH FAgeaqul Has HEd 2|

Question Number : 54 Question Id : 206205637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TS T SeH uTar Fr T & grer "

ST gl 3T 27

Options:

g8 5w AT F T H § @ 316 e f
v 3% ¥ FAST R B 1T 2

, % == 997 foRre der gar § ar exar Far gl

FeH & THT F67 TSU%6 Ush A & gy
.« ST T PR S

Fei-all 9 ORI & Few  sET o U
. w T THA g

Question Number : 55 Question Id : 206205638 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



AT Be ¥ SRE # 9E) o Adr §
gk I8 1

Options:

I Scalaadr & [oT el ¥ =T &=

, » J9H FIA H FETH B TF

el A B FAA H el § alsel A
. » HeH & TH

4 % UF Fiea aa S &1 96 O T

Question Number : 56 Question Id : 206205639 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AT S & I8 5@ W oA g aT ¢ &
e TS 1

Options:

% PRI T 99 TFaT &

z_jamﬁ‘mﬁ#giﬂmqaaﬁmmﬁ

2 R ﬁﬁﬂﬁ'ﬂﬁ?mﬁm%

., « H F TS W@ Fohell &

Question Number : 57 Question Id : 206205640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Feer ¥ TG IT TEF &

Options:

| % TF F B HST BT ¢

¥=or E AT g == ¥ o
L w ST BN TS AT B gl



., TFET T ey ey ot @ & wwerar e ¥

, % TEET el FIT N Ferdr gl

OUANTITATIVE AFPTITULE
Section Id : 20620588
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 20620588
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 206205641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Evaluate the following expression.
40 * 7 — 4824 =7536

Options:

, % 390

> « 309
5 % 386

4 % 410

Question Number : 58 Question Id : 206205641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T a#eRor &1 Jearsa |
40 « ? - 4824 = 7536

Options:

% 390

- » 309



. = 386

4 % 410

Question Number : 59 Question Id : 206205642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The vaner of a furniture shop charges his customer 28% more than the cost price. 1T a customer paid € 23,680 fr a
dining tahle set. then what was 18 original price?

Options:
. 18,500

, » T 15,700
s » 16250

4w T17.500

Question Number : 59 Question Id : 206205642 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T Fel=L FT GFE @ Ao AT AEE § AeE qed ¥ 28% HiUw fAd agee ¢ 3fE e vE
TEfeier & ¥ & BT 2 23,680 THAT § A sEE A #m w4

Options:

i < 18,500

5 & 15,700
. » T16,250

., % T17,500

Question Number : 60 Question Id : 206205643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Three men or eight women can do a work in 40 days. In how much time can § men and 2 women do the same work?

Options:

% Odays

1
6= davs
o % 5



e ?é days

e 13> days

Question Number : 60 Question Id : 206205643 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

2 ST I s wigerw fEEr wE w40 B F 5¢ v we §) 8 e s 2 Afre o e oa
former oAt & 9 = T €7

Options:

1. ® 5‘%\?-

6- fa
7+ f

,13%%3

4

Question Number : 61 Question Id : 206205644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Four numbers are in the ratio 1 : 2 : 3 : 4, Their sum is 16. What will be the sum of the first and fourth numbers?
Options:

1 ® 5

o« 8
3_331{}

4 B &0

Question Number : 61 Question Id : 206205644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
mm1;2:S:Aﬂ:ﬂamﬁ‘ﬁmmmhwghzﬂﬂmgmmm

Options:

1%5

> v 8



Question Number : 62 Question Id : 206205645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If the average of X1, Xo. ...... X1 is ¥. then what will be the average of X1 — 10, X7 - 10, .......,X19— 10?
Options:

1 ® h 5

o B Y_ZG

z v Y10

4 ® }r_lf.

Question Number : 62 Question Id : 206205645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
IF%;}H, L quﬁﬁ?ﬁ?ﬁ,m’x1 - 10, X5 - 10, .... . ){10—10@%”?3111'?

Options:

;% ¥-9
> % ¥-20
sar ¥ = W
4% Y- 19

Question Number : 63 Question Id : 206205646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

g . . ey g) . . T
Find the perimeter of a rectangle whose area is 1375 m“ and sides are in the ratio 5 : 11.
Options:
1 % 168 m
~ % 172m

= % 164 m

4 « 160 m



Question Number : 63 Question Id : 206205646 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
38 HAd 1 IRAT AT F ST a6 1375 T Hex R s oA 50 11 g

Options:

4 v 160 #HI
GEMEREAL MEMTAL ABILITY AND REASONING
Section Id : 20620589
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 20620589
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 206205647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Select the option that is related to the third term in the same way as the first term is related to the second word.

WIDELY : HVCDXK : : 7 : QEHMDF

Options:
1 + FRINGE

> % STRING
- % FRANCE

4 » DEMAND



Question Number : 64 Question Id : 206205647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

37 BweT & 99 1 3 WL 92 ¥ 50 O9F THNT § W o 9T 9% IEY 9T ¥ weEd E

WIDELY ;: HVCDXK ; : ? : QEHMDF
Options:

. v FRINGE
, » STRING
- » FRANCE

. » DEMAND

Question Number : 65 Question Id : 206205648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If * straw” is called “wood®, “wood” is called “table’, ‘table’ is called *chair’, ‘chair’ is called ‘roof™ and ‘roof” is called
“fan’. which of the following options is used by a person to sit7?

Options:
1 % Straw

> « Roof
z % Wood

4 % Table

Question Number : 65 Question Id : 206205648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 66 Question Id : 206205649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0

The main door of Yash’s home is in the south. From the backside of the home, he walks 25 m then mums left and walks
30 m and after that he s right and walks 50 m and then stops walking, Wow in which direction is Yash facing?

Options:
1 ® East

> « North
z ® West

4 % South

Question Number : 66 Question Id : 206205649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Arjun said. “This girl is the wife of the grandson of my mother.” Who is Arjun to the girl?
Options:

1 % Father

> % Grandfather
- % Husband

4 « Father-in-law

Question Number : 67 Question Id : 206205650 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 68 Question Id : 206205651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following word will come second after arranging them in the alphabetical order?

Options:
1 ® MECHANIC
> % MEASURE

- % MAGAZINE

4 « MAJORITY

Question Number : 68 Question Id : 206205651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

. % MECHANIC
., % MEASURE
2 # MAGAZINE

4 v MAJORITY
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Correct: 1 Wrong: 0



A statement followed by two conclusions is given.

Select the conclusion that follows from the statement, assuming everything in the statement to be true.

Statement: BE=D.D<=T.T= R

Conclusion:
1. B=T
II. R>D
Options:
, % Ounly conclusionI follows

-  Only conclusion II follows

= % Either conclusion I or II follows

4 # Both conclusion I and II follows

Question Number : 69 Question Id : 206205652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 70 Question Id : 206205653 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who is the current chairman of IIM Ahmedabad?
Options:

1 ® Y. C.Deveshwar

-  Kumar Mangalam Birla
% N.R. Narayana Murthy

&

M. Damodaran

o
®

Question Number : 70 Question Id : 206205653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 71 Question Id : 206205654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
World Tourism Day is celebrated every year on

Options:



1o September 27

> % November 14

5 % January 25

4 % December 10

Question Number : 71 Question Id : 206205654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 72 Question Id : 206205655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
US Court has issued an emergency stay on which of the following executive orders by President Donald Trump?

Options:
1 + Ban citizens from seven Muslim countries

> % H-1 Visa ban for India
= % Wall in Mexico

4 % Income enhancement for H-1 B Visa holders

Question Number : 72 Question Id : 206205655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 73 Question Id : 206205656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Begum Hazrat Mahal Trophy is associated with which of the following games?

Options:
1 # Cricket

> % Lawn Tennis

3 « Football

5

4 » Hockey

Question Number : 73 Question Id : 206205656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 74 Question Id : 206205657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following countries will be hosting the 2018 Women’s Hockey World Cup?

Options:
1 % South Africa

> % India



= % Australia

4  England

Question Number : 74 Question Id : 206205657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 75 Question Id : 206205658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Who is the author of the book ‘Travelling Through Conflict’?

Options:
1 + Mohammad Hamid Ansari

> % Cherie Blair

- % Balraj Krishna

4 % Salman Rushdie

Question Number : 75 Question Id : 206205658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 76 Question Id : 206205659 Question Type: TYPING TEST Display Question Number : Yes
Wormens History Month is an annual declared month that is traditionally held in March, but the study of
woITens history is valuable all twelve months of the yvear. Women hawve overcorme daunting odds to succeed
and excel in all areas of human endeavor, including science, manufacturing, athletics, business, and
exploration.
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Section Number : 1

Section type: Typing Test
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Section Marks: 0

Display Number Panel: Yes
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Question Number : 77 Question Id : 206205660 Question Type: TYPING TEST Display Question Number : Yes

Social media optirnization services are required to promote a product online because now Custorners have
started using internet at a large scale for fulfilling their every single need. With the increasing number of tools
and services available today to help businesses grow online, social media services are a widely accepted way 1o
as55i5t companies to reach a wider audience fast. There are a large number of social media tocls available on
internet such as Facebook, Twitter and Linkedin which hawve completely taken over the attraction of the whole
world. Especially the businessmen are very glad to use this platform for grabbing the attention of customers.
Social media marketing inwvolves social networks, blogs or any other online collaborative media for marketing,
sales, public relations and serving the customers as well. There could be no denying to this fact that social
media marleting services can get A brand popular within the shortest possible tirme. Through social media
websites, 3 company can easily attract a huge number of visitors who are in a search of a social company
online. Basically, people surf on forums to get connected to the people online. Apart frorm this, there are certain
cornrmunities that come under the social websites like Health, Entertainment, Sports, and Technology etc. Here
people are free to connect to these websites for sharing and discussing their experiences with the people of
sarre nature. These websites are considered as the most important tool of online marketing. Social media
marketing in India is now a famous trend becanse Indians have also started adopting modern techniques for
serving their needs. Professionals of SMM have also gained an expertise in providing remarkable services and
they are also capable enough to perform this task abroad. If you want to choose a perfect online marketing
architecture, then this methodology would be the best choice. & manufacturer can promote his/her product on
social forums, for example, a shoe manufacturer can adwvertise his product in sports cormmunity so that people
wiould see and get attracted towards it SO, which is also knowrl as social media optirmization, can provide a
great support to the businessman such as in brand building, attracting traffic, and targeting required
custormers. One more advantage of utilizing social media marketing services in India is that these are quite
affordable unlike other services which ask for huge amount of money to promote a product. Target marketing
15 possible with the help of professionals engaged in SMO such as they go for gecgraphical targeting, targeting
according to the interest, gender, age and marital status of the person. At the end, it can be concluded that
search engine marketing is an essential tool for promoting your product online easily.
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